[ Efficiency vs vertpos |
~0.05

$.045
2
20.04
(&)
$.035
O '
-450.03 BN REENI B ‘
0.025H-4--- 1%
0.02
0.015-- ,
0.01 ..mr...“.f.
0.005 i

J..G 1 I I.
EI: LS i

Ratio

0.9F--- {1} H{

0.8 .
1072 107 1

10 0?
TP vertr (cr%)

—=— DQM_original_step2_ttbar-phasel-newgeom
Efficiend —e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom

—— DQM_pixelCPETemplateCutChiSquare5_step2_ttbar-phasel-newgeom
~ 0.5

L R R H S S

2 T R T
L S
> E : : : : :
2 E : : : : :
FoI s S S S
) o : : : : :
£ 0.3F e
o o : : : : :
O EeS Kt S s S
SR S S s
R R R SRR S S
O R SO S
008
NIRRT W’ LTI
S : ] ] :
g 1.055— ------- Feeeeens e SR
1;— --------------- 4 1.4.,.1.,--5 T
095+ ---sbereeees L 1R 11| SECCERRE REPPPR

230 =20 -10 0 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~n 0.2
> N R A T A

O0.18F - re i A cTTTTT R e
€ o : : : : : :
7R SRS Rl S SRS S S S

ARV RN S TS S o o

5 o . ﬂ-: . . . .
O e R S S S AR
[} o . . . . . . .
= O e R SRR S A
) F : : : : : : :
O e I A S A
008+ ff b

0.04F
0.02F

01610 5 0 5 10 15 20
Sim. PV z (cm)




	Contents
	Page 1


